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The Natural Logarithmic Function
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Definition
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From the First Fundamental Theorem of Calculus
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EX 3 Evaluate the integrals.
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Properties of Logarithms
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EX 4 Rewrite as a single logarithmic expression. bV, -
v ing 9fD p .@x 3 and @ O3
n(x*-9)-2In(x-3)-(3+3)  domaAL . X >

= L (- Q) + 0 03 4 ey
= o ((RR) (-3 (3)) = ‘ zﬁ),&\)
(x-
= /QV\ (\(-3 \
EX 5 Find y by logarithmic differentiation y— \/xTiJrz

O Aole ,Qh of boWn sidos.
O do ikt A Leronkiakon .

_,Qv\\a An 63-&3\ (3x)
AT

Fn e 2 00 (43) 42 B (342)- L 0, Gea)
D(Any)= W ERATIE F2 A (3082 -3 B (x4 0\

_”[7( \:é_(“g) (3&?& <><+\)

AL 3

= 3 (xz _(_—S 3)6\2 2()&\)

- (\( -R) (3»:42)2 (‘(x S
3

—_— (x1+-$> ?x-l-'Z 20eH)

S op &

XA\



Talee Home Mossa%:."
Dy (| x1) =2
S‘_X dx = W|x|+C  +0)

Wavn\wgi
. S Ay el +c

-—o\(z) Q«\\\a l+C

D
g‘—z o\é=7£_ Lnlyt+C
S L S"?dtr Sta.\oh&: b_A—‘_\Jrc_

a Q7=Slr\\Q7] +cC

1y
2



